Entry Task
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Find the equatlon for the plane
through (2 0,0), (O 3,0), (O 0,6).
Find the equatlon of the line
through (O 0,1) and (5 4,3)

Find the intersection of this plane
and this line.
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LINES PLANES

Find a direction vector and a point Find a normal vector and a point
1. v={(a,b,c) direction vector 1. n = (a, b, c) normal vector
2. o = (xg, Vo, Zo) positionvector 2. Tq = (Xg,Y0,2Z9) poOsition vector

All points (x,y,z) on the line satisfy:  All points (x,y,z) on the plane satisfy:
(x,v,2) = (xg9,¥0,20) + t{a,b,c) (a,b,c) {(x — X9,y — V0,2 — 2Zg) = 0
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12.5 Summary o “Find the equation of a plane...”

“Find the equation of a line...” Step 1: Write

| a(x —xg) + b(y —yo) +c(z—25) =0
Step 1: Write
X =Xy +at,y =y, + bt,z = zy + ct. Step 2: Write down all the given

information. Find a Point and a Normal.

step 2: Write down all the given
nformation. Find a Point and a
Jirection.

To find the equation for a plahe

Find three points

To find equ_ations for aline

Two vectors parallel to the

Find two points plane: AB and AC

. | v =AB
Done. (subtract
! . components)
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. Find an equation for the line of OWT- (0.€ ~1)
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1. Find the intersection of the line
Xx=3t,y=1+2t,z=2-tandthe
plane 2x + 3y - z = 4.
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3. Find the intersection of the line

X =2t, y=3t, z=-2t and the sphere
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Questions directly from old tests:

X=0+24L
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